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A humane society wanted to estimate with 95 percent confidence the propartion of households in its county that
own at least onz dog.

(2} Imterpret the 93 percemt confidence leve! in this context

The humane society selected a random sample of households in its courtty and used the sample to estimate the
proportion of all households that own at least one dog. The conditions for calculating a 95 percent confidence
interval for the proportion of househaolds in this county that own at least one dog were checked and verified. and
the resylting confidence interval was 0417 £0.119.

(b) A national pet products association claimed that 3% percent of all American households owned at least one
dog. Does the humane society’s interval estimate provide evidence that the proportion of dog owners in its
county is different from the claimed national proportion? Explain.

(c) How many households were selected in the humane society”s sample” Show how you obtained YOUT aHSWeT,



